Topic:- Physics

1)
A resistor of 10 olun and an ideal inductor of 100mH are connected in series with a de source of 20 volt.
Find the currentin the circuit. / 10 3 &I Ueh TAXRIe dT 100mH &I Uk HEY Wb, 20

dice drel fese oIRT | & 4@l # 5 §¢ & IN0T H OR A1 H

m)
i
1.20 A
2.05A

3.2A

4.02A

Correct Answer :-

« 2A

2)
The following circuit consists of a NOR gate and a NOT gate as shown in the figure, the equivalent

circuitis of an: / TAFAf@T Gfde #F T NOR 3T Td v NOT 3ic & Cumr [/ §
gHEGET Tie Th BT 8

fam) - IS

1. NAND gate / NAND 7€

2. AND gate / AND TI¢

3. OR gate / ORI



4. NOR gate / NOR 7@

Correct Answer :-

e OR gate/ ORI

3) A radioactive substance decays to 1/16™ of its initial mass in 40 days. The half-life of the substance

in days is: / TP ISl uerd &1 e 5% URAE SEHmE F 1/167 UFTaF 40 R A 9 e
21 uerd o1 fai # ard-shiaa 8:

1. 10
2.25
3.20

4.5

Correct Answer :-

4) A p-n photodiode is made of a material with a band gap of 0.2 eV. The minimum frequency of the
radiation that can be absorbed by the material is nearly: / € p-n BlelsHs WTET?-T gIR1 0.2 eV
¥ d's SiavTa A 971 3 | fafdzur 3t =graw smafy <t uerd gR1 sraxnfya & o 9w dl 7, 98
T g:

1.10x 104 Hz

2. 1x 1014 Hz
3.20x 104 Hz
4,5x 10" Hz
Correct Answer :-

. 5x10“Hz

5) In photoelectric effect on metals, an increase in the frequency of incident radiation increases: /

Tgeit W U=l fagad wuta &, smufaa fafevor #t enghr & g8 9, 3ot gf =it 8:

1. Velocity of emitted electrons / d({-llr\\ﬂrcl $Q\1d§\ll'1\|. BT

2. Work function of the metal / YT T HR-Ha
3. Rate of emission / 3o &1 G
4. Threshold energy / T ol

Correct Answer :-

« Velocity of emitted electrons / Jford 581 :IJ 1f T o



6) Which of the following is TRUE for a series combination of resistors? / ufeRie & oft o &

fog FafafRad S s aas?

1. Voltage remains same only / Rt diees HM Redl %

2. Current remains same only / R Iraqu\ &RT YA I8 &

3. Both current and voltage remains same / ]%I_g?:l?[ YRTTd dleco] ARIESLIG) Qsa %

4, Neither current nor voltage remains same / 1 gl ﬁ'ggq?[ YRTTd 718} dlecsl T |d &

Correct Answer :-

o Current remains same only / Rrb iaqu\ RT JHTH {Sdnl %

7) Which one of the following processes/devices uses solar energy and converts it to chemical energy?

%ﬁuﬁﬁﬁqwﬂm/ﬂxwﬁ?mmmmﬁ%aﬁ?aﬁmﬁﬁwﬁﬁuﬁaﬁhm

1. Photosynthesis / UhIR[ BEGLLY
2. Solar pond / IR ard

3. Solar heater / @7 didch
4, Solar cells / ﬁT? qd

Correct Answer :-

o Photosynthesis / D TR[ BEGLLY|

8) Which one of the following molecules shows pure rotational spectra? / = ﬁ'CIT T B 9T 3]

Y& YUl Wt UghRia Har g2

1. N,
2. CO,
3. H,

4. CO

Correct Answer :-

9) Which one of the following can be used to produce a propagating electromagnetic wave? /

frafufad el & @ 19 v vafiia figaq Yaaia a1 & Sdre § Uy gar a2
1. An accelerating charge / U CIEGEEIEE
2. A charge less particle / Tch Bﬂa?@:[ 3yl



3. A charge moving at uniform velocity / UHIR o1 9 TR 37a=r

4. A stationary charge / Xd&[ SIER

Correct Answer :-

e An accelerating charge / Udh AR AR

10) Two wires made of the same material and having the same volume are connected in series. Their
cross sectional areas are in the ratio 1:3. If the thicker wire has a resistance of 20Q2, then the
equivalent resistance of the series combination is: / FHI YT Td HHI ST AT G aR Joi &
S &1 ST IV P &A®d, 1:3 F 3gura A 71 afe 3if¥re 7T arR &1 ufaRie 200 8, @t 40ft
TS T god Ui o

1. 180 Q
2.200 Q
3.40Q

4,220 Q

Correct Answer :-
e 200 Q

11) Two charges -4 C and +4 C are placed at 10 cm apart. The potential at the center of the line
joining two charges is: / &Y SITART -4C T4 +4C 10 ﬁﬁ@ﬂtﬂ'?@%l S 3= @t firer arett
Y@ P bg R fTua e:

1.2V

2.4V

3. Zero / ][I
4.2V

Correct Answer :-

12) Two particles in air are separated by a certain distance ‘R’. Their masses are My and M, and

they have equal and similar charges ‘Q’. If the resultant force acting among them is zero, then the
value of Q is: / ATg B &1 HUI TP A g8t R IR §1 59 SHAM M, TH M, TUT SR THHE TH
TR 31T Q B1 Tl 37 Hey BT IRV g I 8, A Q FT A 8-

1. \/(471:80GM 1 Mz)
2. 1/(4megg) V(GM;M,)

3. 47'[80GM 1 Mz



4. 1~ (4ne)(GMM,)

Correct Answer :-
o V(4neyGM; M)

13) A diffraction grating is an arrangement of large number of equidistant and parallel v
TS faad= AT 931 T o THgI TUT AR D Th IGIT GBIl B
1. lines / Uil

2. partitions/ﬁﬂ-HGFﬁ

3. segments | Gsl
4. slits / 3T @;l

Correct Answer :-

e slits/ i@l @il

14) A device used to measure the potential difference across any two points in an electric circuit is

k.IIO%Vﬂ as: /wﬁgqauﬁuuﬁﬁﬂﬁmﬁﬁgaﬁwﬁwmﬁ%ﬁmmmﬂﬁw
gde:

1. Voltmeter / dlecHIEY
2. Galvanometer / ﬁﬁ:h'ﬁﬂ—cf?
3. Generator / @l:ﬁaq

4, Ammeter / Qﬁlaz

Correct Answer :-

o Voltmeter / dlecHlex

15) For a constructive interference to take place between two monochromatic light waves of
wavelength ‘)’, the path difference should be: / A3 %‘af AP E.Pf WWWFZT T & 9 Udh
TS ATAHIT & T, 9y 3R §HT A1RT:

1. 2n-1)L/2
2. (2n-1)A/4
3. (2n+1)A/2

4. NA

Correct Answer :-

« NA



16) An electric bulb of 100 watts when kept on for 12 hours will consume an energy of: / 100 dic

1T U fasTelt &1 9ed, 12 92l & T I1e ¥@H IR 3a-11 SHoll B Gud H3:
1. 1.4 kWh

2. 1kWh

3. 1.2kWh

4. 0.12 kWh

Correct Answer :-

e 1.2kWh

17) The ratio of the radii of the nuclei 3A127 and 5, Te!?’ is: / 134127 T4 5Te!?® A1t 3t Brear
BT 3T 8:

1. 13:52

2. 14:73

3. 27:125

4, 3:5

Correct Answer :-

18) The current through a 1 mH coil drops from 5 A to 3 A in 1073s. The emf developed in the coil is:

/TF 1 mngﬂﬁﬁmﬂﬂTlo5ﬁﬁ5Aﬁ3Aﬁﬁﬁﬁ%I Peat d fawRia fagad
ddl (emf) &:

1.2V

2.8V
3.2x10°V
4.8x 100V

Correct Answer :-
« 2V

19) The liquid drop model of the nucleus can explain: / TMfH® H154 9 Aisd 3'\‘!3% ST HY
AHdT &:

1. Gamma decay / TTTHT &4
2. Nuclear stability / e 1T RRT



3. Nuclear fission / TP faG e
4, Nuclear fusion / ATTH® T TATT

Correct Answer :-

« Nuclear fission / ATTHS I fade

20) The critical angle of light passing from glass to air is minimum for: / Prad CIRGED EIEEI )

THTRT BT Hifae® B0 = & T Aaa gar e
1. Green / BX]
2. Red / Al

3. Yellow / Ut
4, Violet / ST

Correct Answer :-

« Violet / STt

21) The horizontal component of earth’s magnetic field is zero at: /uﬁwqwﬁ% ﬂﬁ'cﬁq & BT

mm@m%

1. 45° Latitude / 45° 3{&7=0

2. The geographic poles / difae gd

3. The magnetic equator / Id 1Y HH TR
4. The magnetic poles / W‘C{ gd

Correct Answer :-

« The magnetic poles / DT ¢d

22) The focal length of a convex lens of glass of refractive index 1.5 is 2 cm. The focal length of the
lens when immersed in a liquid of refractive index 1.25 will be: / SAUGAIP 1.5 9T Hid & T 3l
A T BIHATHT 2 T B 1 9 3 SUTHID 1.25 T TH avel H GAIIT S, 99 AF BT
BIHHIBUT §INTT:

1.2.5cm/2.5 91
2.5cm/ 5 THT
3. 1cm/ 139
4. 4 cm/ 4T

Correct Answer :-

e 5cm/5 O



23) The displacement current density across a parallel plate air capacitor which is being charged at
the rate of 102 V/m/s is (¢ = 8.85 x 102 C2 N m?): / FHIGR Wie arg |1, o’ 102v/m/s Bt
X A ST T omar 8, UR FAAT= S1RT U+ BHTT: (¢ = 8.85 x 1072 C2 N1 m'2)

1. Zero / }[H
2. 8.85 A/m?
3. 1012 A/m?
4. 1012 pA/m?

Correct Answer :-

24) The approximation that a diatomic molecule can execute rotations and vibrations independently

is knovg as:/ﬂ?ﬂﬁﬁqﬁ%%mﬂw&&udﬁﬂdﬂ ¥ g e @7
qhdl e:

1. Born approximation / 914 Tfpe

2. Paul’s approximation/blldmﬁl e

3. Franck-Condon principle / U~ - lved aH
4. Born-Oppenheimer approximation / ST--3U8EHR Jfade

Correct Answer :-

« Born-Oppenheimer approximation /aﬁ-Bﬂstl'sHi qfde

25) The variation of magnetic field ‘B’ due to a long straight current carrying wire with distance ‘r’
from the wire is represented by the curves given below. Select the correct curve. / YRT dg- P ard
T® dd A8 TR & RO a1 &1 <B” B Fisrar ford R 1§ 3831 gt o’ &1 - 96 §RT
ST 7T 3 | 6 T3 BT 7 P |

g M




4, r

Correct Answer :-

26) The observation of colors in soap film are due to: / Wﬁ"—@fﬁ T & Befor WEFR'UTB-FIT%
1. Polarization / §dUI

2. Dispersion / gfarmu

3. Diffraction / fdadT

4. Interference / SfAHRUT

Correct Answer :-

« Interference / STIHT

27) The angle of incidence for a ray of light at a refracting surface of a prism is 45°. The angle of
prism is 60°. If the ray suffers minimum deviation through the prism, then the angle of minimum

deviation is: / T fIoH & SUad® Y56 TR YHTRT &1 TP fhR 01 HT STUAT BT 45° B | T F7
BT 600 1 Tfe FIsH F wreaw | fpvor o1 g 4= gian 8, af =g=aw fage S g:

1. 30°
2. 60°

3. 45°
4. 90°

Correct Answer :-

« 30°



28) A 0.5 m metallic rod is being revolved in a vertical plane about one of its ends with an angular

velocity of 5 rad/s. The earth’s horizontal magnetic field is 0.2 x 10"* T. The emf induced across the

ends of the rod will be: / T 0.5 HI YTfd e IS Bl TP StaleR AT A T R A &1HIT 5 33T+
I F HIviig 37§ gHrEr oar 21 gt o1 dfas dee g 85 0.2 x 104 T 21 MS F DR W ARG
ST (g g &) &:

1. 50 mV
2.5mV
3.12.5uV

4,25 uvV

Correct Answer :-

29) In AND gate, the output Y is 1 when the inputs A and B are: / “AND” e ff, Y 'a'%'&fﬂ
(3TITYR) 1 BT &, oTa fa%r GTYe) ATI BB &

1. A=1, B=0
2. A=1, B=1
3. A=0, B=0

4, A=0, B=1

Correct Answer :-

30) A convex mirror has a radius of curvature of 6.0 m. If an object is placed at a distance of 9 cm
from it, then it will produce a magnification of: / Y& 3¢l E&UT I gepdl 34T 6.0 WY %l Uh d¥&d
I 9 AT Bt g8 W I S 71 Tg A emad = e B

1. 0.25
2.0.15
3.0.35

4, 0.45

Correct Answer :-

31) A piece of wire having a resistance ‘R’ is cut into six equal parts. These are then connected in parallel

to get an equivalent resistance of ‘R1’. The ratio of R/Ris: / R ufeaRIY arel aR & g gﬁ@' G| B
IR YR & ®1er T iR 58 'RY & JUge UfaR1e U S+ & fg guiar SiisT 1ar1 99 R1
/R T 3UTd g1



4 38

Correct Answer :-

32) If the kinetic energy of the particle having wave length ¢ )’ is increased to 25 times its previous
value, then the change in de-Broglie wavelength of the particle is: / 'A' W %ﬁ ara Uh HUT CARIG]
Sl # afe gd &1 ga1 | 25 A1 &1 gieg B T, @ U1 F S-siiveil aeireed § uRkad 8:

1.04x
2,025
3.0.1x

4.0.8)

Correct Answer :-
e« 0.8A

33) The velocity of light in a medium is 1.5 x 108 m/s. The critical angle of the medium for a ray
going from the medium into air is: / TP WTLAH W YHTR HT A 1.5 x 103 T/ 1 Areqw A arg o
ST Uep foh=UT & HIHH &1 hifdd HIvl §:

1. 30°
2. 60°
3. 45°

4, 90°

Correct Answer :-

Topic:- Chemistry



1 Identify the compound B in the given reaction. / &1 915 Akl & AifHe B &I Ugd=0]

Ha C——CH—CH;
“‘1_\
= K o0, - A Spdalime =P
e
_Na.
.
,,.//'

1.
OH
C
2. =
O

COQOH

@
,.F'Ff
4,

Correct Answer :-

2)
An allsyl halide with molecular formula CsH;;Br on dehvdrohalogenation gave twoisomeric alkenes “A°
and *B’ with molecular formula CsHjy. On reductive ozonolysis, ‘A’ and *B° gave four compounds
CH;COCH;, CH;CHO, HCHO and (CH;):CHCHO. The alkyl halide is: / 3T0T{de el CsHyBré Th

TomISel BeNgs o [dpIsalbeilelan (fSETeglgeioleee) IT FA0Tide A CsHyy & 1 TAtadr
Tedhe ‘a4 3T ‘B T fouesdm AEEesiy woca AR B o 9x Aifie
CH:COCH;. CH:;CHO, HCHO HX (CH:;).CHCHO T3 Tedsel Ballss &

1. 1-Bromo butane / 1-SH! @1%:[
2. 2-Bromo butane / 2-S1HI a@q
3. 2-Bromo-3-methyl butane / 2—@'@[—3—%%@7[
4. 2-Bromo-2-methyl butane / Z—w—Z—ﬁmaﬁq



Correct Answer :-

e 2-Bromo-3-methyl butane / 2—§hﬁ—3—ﬁu@5®q

3)

What will be the equilibrium constant of the cell in which the following reaction takes place at

298 K7/ Ol ol aed Rt & gram, forae e 31fifehar 298 K X &1 &dr 87
(R=8314TK - mol-! ) -2Fe*(aq) +2I1-(ag) = 2Fe? (aqg) + Ia(s) E’=0236V
1. Antilog 9.7826 / UIdilTT 9.7826
2. Antilog —9.7826 / TSIANT —9.7826
3. Antilog — 7.9826 / USdNT — 7.9826
4, Antilog 7.9826 / UCIaNT 7.9826

Correct Answer :-

« Antilog 7.9826 / TSI 7.9826

4)
What would be the ratio between K, and K. for the given reaction? / &1 915 AT & forw K, 3T

CaHagg + 2Hag - CaHsig

-
, ®IF

2. 1.0
3.RD)"
4, (RT)?

Correct Answer :-

5) Sodium rosinate is generally added in the soap because it: / THSTH Asi—e, TG H
HTHT=I: STl STaT § T a8, |

1. Produces rich lather / URUR ST Idied Hdl %
2. Gives antiseptic property / WRit® UTUGT hdl g
3. Prevents rapid drying of soap / FT§- ! dell ¥ F&- H Akl g



4, Acts as aper‘fume/T!$CITCP:|§:[E“*)[?‘R_Ef$l?ffWT‘IT%r

Correct Answer :-

« Produces rich lather / HRQR M AT AT &

6) If an endothermic reaction is found to have +ve entropy change, then the reaction will be:

/ gfe T SearRnt Siffesar § +ve Trerdt ufad= urar a, at srfiforan gt

1. Possible only at low temperature / dad (Y I R IdHg

2. Possible at any temperature / fdgi! 4t 90 TR Iug
3. Possible at high temperature / 3 dIU UR Hd
4, Not possible at any temperature / {3l 4 d0 IR T 8t

Correct Answer :-

« Possible at high temperature / 3= U TR JHT

7) Which one of the following is present in the chain structure of silicate? / Faferdpe @t WFIT
e ¥ fafafed § 9 oF a1 ue Sufyd gl g2

1.(Si0527)

2. (8052 7)

3. Si044

4. Si,0,%~
Correct Answer :-
- (5i03%),

8) The AT/CG ratio in human being is: /'FHW'EI' AT/CG GI':[Q'IH'@?IT%
1.0.39
2. 1.52
3.1.25

4. 0.93

Correct Answer :-

o 1.52



9) The sequence of bases on RNA molecule, synthesized on the GCATA strand of DNA is: /
DNA &% GCATA TYd TR HRANE, RNA U] TR &R (@) FTH 8-

1. AYCGC
2. CGTAT
3. TACGC

4. CGUAU

Correct Answer :-

- CGUAU

10) If the values of standard reduction potential increases in going down the series, then the
character of metal ./ Ife AT v faHad & 9, §9ar | - o WR 9gd
g <t g BT &I [

1. electronegative, does not change / Ul ﬁ_ggqﬁ (sﬁaejﬁﬁﬁa), gfafdd et gial
2. electronegative, decreases / BUl ﬁ_ggqﬁ @ﬁa@ﬁﬁﬁm, gcdl |

N VOSSN

3. electropositive, increases / Y ‘I-agbk'l ($€1d§lqll\ﬂldd), dedl %
4. electropositive, decreases / ¢ ﬁgﬂﬁ @a@qﬁm, E]E?ﬂ%

Correct Answer :-

e electropositive, decreases / ¢ [aqu (sadQIl—lll [cd), dcdl %

11) If the temperature coefficient for hydrolysis of ester by NaOH is 2, then the activation energy for
ten degree rise of temperature from 298K is: / 'CI'% NaOH gIRT TRET% SATHcH & ﬁ‘l’({?ﬂmﬁ
T[T 2 &, 1 298K | ATIA & & f$3ft #1 9 & forg aforaur St ginfi:

1. 42.74k)/mol / 42.74 ToalIS[a AT 3]
2. 52.89kJ/mol / 52.89 fTh a3
3. 5.28kJ/mol / 5.28 fh A AT
4, 4.27kl/mol / 4.27 fHaIe/ATHS]

Correct Answer :-

« 52.89kJ/mol / 52.89 faraliS[al/ATHS{T]

12) Which of the following is NOT a dipolar ion? /ﬁ'ﬁﬁl’@?‘fﬁ@ CaC kI '%‘Q'Cﬁ W“lﬁ%"
1. p-Aminobenzoic acid / UI-TfAIGIIg® 31
2. Aminoacetic acid / QIW]IQI%I]E% 3T



3. p-Sulfanilic acid / T-TehHRA® 3
4. Alanine / Qa:ilﬁ:l

Correct Answer :-

« p-Aminobenzoic acid / UI-UFId=lISd S

13) Which one of the following compounds is diamagnetic in nature? / a3 s T afe
Toid d ufadaaia g2
2_

1. [CuCly]
2. [Ni(CN),]*~
3. [Fe(CN)g]*~

. 2—
4, [NiCly]
Correct Answer :-
« INI(CN), I

14) Which one of the following 4 pairs of Z values represent “p block” elements? / SiE] ﬁlﬁﬁ Z {r=

& 4 A Y, P I TP "p (b ddl Bl USRI Tal Bl g2
1. 38,55
2. 47,39
3. 60,71

4,32,53

Correct Answer :-

15) A solution of <X’ (molar mass 60 g mol'l) in water boils at 100.18°C at the atmospheric pressure.

If K¢ and K, for water are 1.86 and 0.52 K kg mol! respectively, then the freezing point of the

solution is: / ST § X (T 31U] YR 60 g mol™) FT faea=, IRIHSH 19 TR 100.18 °C U= U &
Saadr 31 afe U & T K, 3R K, 5F=1:1.86 31 0.52 K kg mor™ §, ot faera= &1 fgwiss g :

1.-6.54 °C
2. -0.654 °C
3.65.4°C

4. +0.654 °C



Correct Answer :-
e -0.654°C

16) While extracting copper from its sulphide ore, the metal is finally obtained by the reduction of

Cu,0 with: / TS (PIIR) P! STP PSS 3D W FPT@ & R, Cu,0 F FAIHI0 & §RI
3faa: et urg vt $t oIl 8

1. Tron(Il) sulphide / AR(II) THISS

2. Copper(l) sulphide / HITR (I) TP
3. Sulphur dioxide / TR SEIHFIZS
4. Carbon monoxide / BTe ﬁ\’ﬁﬂﬂﬁg

Correct Answer :-

« Copper(I) sulphide / BIR (I) TIPS

17) What is the number of moles of conc.HNO; required to oxidise 0.75 moles of P, molecules to
orthophosphoric acid, the other products being NO, (s and water? / P GFUIGﬁ ¥ 0.75 WG{UJGﬁ 3|
SATUTHIEPING 3 ), STRIFd HI B A ATTAD Fifsd HNO, & ATHIAT[AT Dt I FIT
T, ST 317 JATE NOy (i) ST &7 372

1. 15 moles / 15 UTH 3]
2. 10 moles / 10 UTH 3]
3. 5 moles /5 UTH 3]

4. 20 moles / 20 UTH 3]

Correct Answer :-
e 15 moles/ 15 UTH 3]

18) What would be the product obtained by the process of “reforming” when n-heptane is heated

(773K) in the presence of Cr,0;? / STd Cr,0, B SURIFT H, n- D (773K) B 7T fpar ST & o
«JUR” DI YT & GIRT YT ScTG T GITT?

1. Cyclohexene / Hﬁﬂ?ﬁ%ﬁq
2. Cyclohexane / BIEENIRER]
3. Benzene / SFoli-]

4. Toluene / a?{[ﬁ

Correct Answer :-



e Toluene / ‘é’l?qﬁ

19) The quinhydrone half cell is reversible to: / T3S 31t A 5HF forw Ipyvig T

1. Hydroquinone /Eﬂ%@?ﬂfﬁ:{
2. Quinol / f@HTd

3. Quinone /feaE
4, H*/ H*

Correct Answer :-

20) The decreasing order of bond energy of halogens is: /%T’ﬁTrFﬁ P MY Soll BT Uedl HH il

1. Cly> F, >Bry>l,
2. C|2< Brz <F2<|2
3. Cly> Bry >Fy>15

4, F2> Clz >Br2>|2

Correct Answer :-
e Cly>Bry >Fy>ly

21) The heat of neutralization of HF with NaOH is -68.6kJ/mol, much higher than the standard
value of -57.3kJ/mol. This is due to: / NaOH & HTY HF P SERIHUT ST, -68.6kJ/mol &, S
-57.3kJ/mol & AT HIT & HTH! P & | SHBT PRI 3:

1. Hydration of F- ion in aqueous solution and the process is exothermic / STl faaa 1 F- ion &1 STadioH

3R UHH, ST B

2. Hydration of Na* ion in aqueous solution and the process is endothermic /ST faaa= o Na* ion &7

STerdIo 3R UshH, ST g |

3. Hydration of OH™ ion in aqueous solution and the process is exothermic / STend faaad # OH- ion &1
SIS 3R UehH, S sH1aT g1

4. HF behaves as strong acid / HF Ydcl & DI RE B Bl %I

Correct Answer :-

¢ Hydration of F- ion in aqueous solution and the process is exothermic / ST faaaH T F- ion BT STAdiSH
3R wepH, STad B



22) The reagent which converts lactic acid to pyruvic acid is: / g GIﬁ-W, o) dfdee era &Y
UTSY % 3 § F Ui Hdl 8

1. Fenton’s reagent / theH 3fN&H®

2. Tollen’s reagent / clea P HD
3. Bayer’s reagent/a\}R N HHE
4. Grignard’s reagent / T S JfipHs

Correct Answer :-

L
[

_5)

« Fenton’s reagent/

23) The half-life of the decomposition of a compound is 20 minutes. If the initial concentration of the
compound is doubled, the half-life period is reduced to 10 minutes, then the order of the reaction is: /

T® Fiffe & 3rqae- &1 Sref-shiae 20 e 71 afe 9ifie &1 uRfYte Tigur S a2 fqar o,
oY 3rd-sfta= gev 10 e T8 ST 8, sifufpar s1pH §:

1.1.5
2.2
3.1

4.0

Correct Answer :-

24) The standard EMF for the Daniel cell is 1.10V at 25 degree centigrade. If 0.1M ZnSO4 and
CuSO4 solutions are used in both the half cells at 25 degree centigrade, then the EMF of the cell

reaction is: / S0 A & forg 25 f&h AéHe W e fagaaae® aa @wuuw) 1.10v 314f
0.1M ZnS04 Td Cus04 fIera=l &1 Iuai, 25 f&f s w il ord At # fpar smar €, 9 9«

e T fergae.-aTe® T (STHTH) E .
1, 1.10V
2.-1.10V
3.0.11v

4. -0.11V

Correct Answer :-

« 1.10V



The amine that gives N-nitrosoamine on treatment with HNO, is: / THIg | HNO, & 1Y ITAR

B TR N- AT IICHIS T 3T @

: MNH—R
1.

HgC——CH—CHy

5. MH5

: NR.
3.
I{H
C(* 2
ot
4.,

Correct Answer :-

NH—R

26) The number of waves made by Bohr electron in its fourth orbit is: / ilﬂ?f FETH TR sﬁ?&’h

& GRT TS TS a1 Bt S FI &
1.5
2.4
3.2

4.1

Correct Answer :-

27) Identify the compound for which Kjeldahl’s method of estimation of nitrogen CANNOT be used.

/ﬁa?m,wmm%wﬁwmwmaﬁmm
THare?

1. Tertiary amines / Jaidd QI
2. Nitro compounds / '_'Ilg?_il Qe

3. Cyanides / IS S



4. Amides / UHTSS

Correct Answer :-

 Nitro compounds / :IIQE;l i

28) In cyclotrimetaphosphoric acid, the oxidation state of phosphorous is: /

SIS ACTH IR 3 H, BIThRY B ATRIHIT 3awAT Bl 7:
1. +3
2.-2
3.-3

4, +5

Correct Answer :-

29) A compound ‘A’ has the molecular formula C,Cl;OH. It reduces Fehling’s solution and
on oxidation gives a monocarboxylic acid. ‘A’ is also formed by the action of Cl, on ethanol.
The compound ‘A’ is: / T TS A BT AUIAD A C,CI;0H 81 9% Bl & faeam &)
LHAHd BaT 8 SR ATRIBI 1 IR TH HAIBTa T D 3T &al g | ‘A’ AT R Cl, Bt
fomar & g1 ot FfHa grar 81 9l A 3:

N N N

1. Trichloroacetic acid / CISIIRITIIICH 3T
2. Trichloro ethanol /wgm

3. Chloroform / FIRIBTH

4. Chloral / &R

Correct Answer :-

« Chloral / FIRd

30) In which of the following species are all the bond lengths NOT equal? / frafafae & 9 foa afizhs

# Wt gis, SRR |@a1s & 8 g 82
1. NH,"

2. SF,

3. SiCl,

4, XCF4

Correct Answer :-



31) Kcl forms NaCl type of lattice. If the distance between K* and CI" is ‘x’ pm, then the edge
length of a unit cell is: / KCl, NaCl &R $T ST a-Td 8, afe K+ 3R CI° & & 3t g&f "X’ pm

g, 91 TP SPI5 90 & PR P da1g ohi:

e
L4 om

X
= pm
2. 2

3.2x pm

4. 4x pm

Correct Answer :-

32) The crystalline substance on being heated gradually first forms a turbid liquid at constant T
and still at higher T turbidity completely disappears, this behaviour is a characteristic of

substance forming . | R-IR T g1 wR, fhveeta uerd uga RRI® T W v snfad ga
(e fafde) 9T & iR iR S=aR T |, snfdrerdr ¥ @ & 9l 8 9t §, 98 IaeR, i
Gg T BT TS 0T B

1. Allotropic crystal / IR fheed

2. Liquid crystal /%4 foted

3. Isomorphous crystal /Wﬁ’)_\?ﬂ
4. Pseudo crystal | B9 fhed

Correct Answer :-

o Liquid crystal / &4 foheed

33) The geometrical isomerism is exhibited by the oxime of which one of the following

%ompounds? | St gHTagadn, fAEfafad 8 9 f5 giffre & sifaaw grT ueiRid &1 wird
?

1. Diethyl ketone /813@&!?1’ A
2. Formaldehyde/Uﬂtﬂ—c'-}é’ag@ﬁr

3. Acetone /Q?ﬁa:[

4. Benzaldehyde /ﬁ%@%—é

Correct Answer :-

e Benzaldehyde /é@%ﬁlﬂg



Topic:- Mathematics

1) tan_l( cosx ):‘_?

1+sinx

T X
4 2
1.
TE+X
4 2
2.
X
2
3.
T
2 2
4.

T X
4 2
2)
‘tan(z—x] - T
Let f(x) :T’ forx = T Find the value which should be assigned to f atX =I’ so that it is
cot2x

tan{ E—:x. )

continuous. / HIA ellelT Teh X &= EEF’ ﬁ!ﬁf(x)='—4— &l 39 A & AT B,

cot2x

ﬁm{frx=f W @t iR far s anfge, arfe o folax &

1

2
1.
2.1
3.2

4.4

Correct Answer :-

ra |



3 Find the solutionofg—IM:D. ! E—iw=0 T Gl Ald H|

dx 1l-coslx dx 1-cosl2x

l.tany +cotx=C
2.tanx—coty=C
3.tanx+coty=C

4. tany—cotx=C

Correct Answer :-

e tany—cotx=C

4)
If A and B are two independent events in a sample space, then P(A/ B )} equals to:/ Afg, A 3N B. T

qfae®l A (dFder TOF) # g Tadd gl &, dd P(4/ 5 ) [Fa & awee &

. 1—PA/B)
1—P(4/B)

3.1-P(A/B)

4.1-P(A)

Correct Answer :-

5)
If the coefficient of x* in the expansion of (1 + x?)"is 10, then n=? / A (1 + x2)* b TEOT Hx* &I

T 10 &, od n=7?
1.3
2.2
3.4

4.5

Correct Answer :-

6)
The value of ;101 4 ;102 4 ;203 4 ... 4108 4g: f 101 4 ;102 4 ;103 4 .., 108 SR HA a':



Sx+4y

7) Sa+4y

If (x 4+ iv)? = 4+ 51, then =7 | A (x+ y)3 =4+ 5. dd

xy{x®—2) m D
1.1
2.3
3.2

4.4

Correct Answer :-

8)

n{n + 2)
2

nin+2)2
2

nin+2)
4

nin+1)

I'l—
4 V2

Correct Answer :-

nin+1)
Ny



9)
If [;.f _ﬁg] such that A?=[ then o2+ fy=2 / ?Iﬁ[;f _ﬁ;{] 50 UhN & [ AL dd o2+ fy=17

1.1

2.2

4.0

Correct Answer :-

10) The domain of the function v = ,1—15 [ el v = ——— il T8 (S &

MEIER l:'l
[0. 00}
1,

. o1

3, C=:0)

(1,00}

Correct Answer :-

11)
Find the value of Jfor which the volume of parallelepiped formed by the vectors  + A + k. j+ Ak and
Af + k& is minimum. / 3. @7 A AT B, ToiTh T el i +Af+k, j+ Ak WAl + k ¢

AT FATa Sehed H AT wgaaH Bl

1
i3

-..\,|'§

V3



-
z.ul"_i

4,

Correct Answer :-

1
e ﬂfg
12)

The area lying in the first quadrant and bounded by the circle x2 +v? =4 and the line x =43 vis:/ TIH

TR # AT T gcd = +y?=4T W@ x =43y ¥ IRERT 8 &

Wl

b A

T
4, ©

Correct Answer :-

13)

Iffjlf (x)dx=4 andf;(S —f(x))dx=17. ﬂlmfz—lf(x)dx is:/ afg
[ Fde=dwa [[(3—F (x))dx="T.7a [, F()dx &

1.7

2.4

4.5

Correct Answer :-

14) If [ f{x)dx =f(x) +C.then: / AT [ flx)dx =f(x) +C, an



1. f(x)=sinx
2.f(x)=x
3.f(x)=¢*

4.f(x)=aconstant/f(x)=@@ﬁi$

Correct Answer :-

15)
The minimum value of 64sec & + 27cosec & when & lies in (0, :[—) is: / 64sec @ + 27cosec @ BT wAdTH

1, <4 6, (0.7) ¥ o &

1. 250
2.4
3. 125

4. 27

Correct Answer :-

16) 1fcosdx =1+ ksin®xcos?x, then k=2 / AMC cosdx = 1 + ksinxcos’x, dd k=?
1.8
2.4
3.-8
4, 4

17 - . - - -
) Ifdcos™lx +sinlx =, thenx=2 / AR dcos™1x +sin~tx=r  ddx="
3

1.

(SR



3.1

4.0

Correct Answer :-

\3
2
18)
1 1 2
LetA=|2 2 4] bea 3 x 3 mawix. Let V= {(x, v, z}| x, v, z real and determinant A =0}. Then the
X ¥y z

1 1 2
dimension of “V" as a real vector space is:/ HIAT Th A=[2 2 -4‘ b 3x3 AR (AR Bl
X ¥y z

AT AT & V={x.v.2)|x v.z d&dde Ud GHRE A =0} dd aedids ddF A
(dored TUH) & ® 7 V' BT HA™H &

1.1
2.3
3.2

4.0

Correct Answer :-

19)
If|4.5| = |G % B|. then the angle between & and b is: / A |3.0| = |4 xb|.dda Hs & g @

1.30°

2, 135°

3. 60°

4. 45°

Correct Answer :-

e 45°

20) i 40 + 2 sin 89 + sin 126=7



4cos?28sin 88

4co52@sin 86
2c05%35in 88

4co522@sin 48
4,

Correct Answer :-

4cos?2@sin 88

21) In an ellipse, the distance between the foci is 8 and the distance between the directrices is 25.

Then the length of major axis is: /Wiﬂ'dqc_vl'ﬁ, oo (Qﬁ?ﬂ) %nwg'\?r 8 Qaﬁ'qﬂTGﬁ
(STRTFE) & HeA gR1 25 B | 99 WA 31 Pt TS &

2042

4, 10v2

Correct Answer :-

1042

22) A line passes through (2, 2) and is perpendicular to the line 3x + y = 3. Find its y-intercept. / T

IGT (2, 2) W ToRGT € 3R IWT 3x +y = 3 P Faad & | SHPT y-3id- TS Jd DL

W i

| W

Correct Answer :-



23) The n'" term of the series 6+66+666+ is: / AN 6+66+666+ HT a9l Ug

e

6
—{10" —1)
1. 9

2.5x 11™!
3. 6 x 97!

4, 6x 10!

Correct Answer :-

24) A and B throw a dice each. The probability that A’s throw is not greater than B’s throw is: / A
3R B, YIS TH UidT Bravdl 8 1 STS! T WIRIwdl 8 T A §RT s ¢ U %71 9, B §RT s
T UTH & A 9 Sfer =81 8

da |

25) Words are formed with the letter of the word TRIANGLE. The ratio of the words starting with
T and ending with E to the words ending with G is: / ¥e TRIANGLE & 3&R} ¥ eg ST T T

T YR U4 E 9 3id 811 aTd Jeg] o7 G T 3id B a1 W31 & [1Y ST B:



1. 8:3
2. 7:1
3.3:8

4, 1:7

Correct Answer :-

26) The distance between the planes 2x-3y+6z = 5 and 6x-9y+18z +20 = 0 is: / 2x-3y+6z = 5 3T 6x-

9y+18z +20 = 0 FHTGI b dId B g3 §:
35

1 21

845

(Sl el

4,

Correct Answer :-

35
21

27) The ratio in which the line 3x + 4y + 2 = 0 divides the distance between 3x + 4y + 5= 0 and 3x +
4y —5=0is: /T8 JUTd T 8, ORI Y@ 3x + 4y +2=0,3x + 4y + 5=0 3R 3x + 4y -5=0F
o9 &Y g8 &) fauTfora et &:

2:7

4,

Correct Answer :-



28) There are 3 sections in a question paper each containing 5 questions. A candidate has to solve
any S questions choosing at least one question from each section. Then the number of ways he can
make his choice is: / T T T | 3 FUTT § Td YD SJUNT & 5 UY | TP SWIGAR Bl TP
SIYURT A FH A FH TH U TP $d 5 U B 50 BIAT ¢ | Y S R Ieb! D1 I 1 gifl,
o4 9% 31Ut Ui 3T 99 X 9Pl §:

1. 1050
2. 2250
3. 1850

4. 1300

Correct Answer :-

« 2250

29) x+2 2v—7 bLb—=z

The equation of line passing through A(-1,2,3) and parallel to 2 3] 6 is:/A
x+2 2y—-7 5_ =z
(123 ATeRATRTE 2 6 6 P UAIGK (G H FHETE:

30) The equation of normal to the curve y = sin x at (0, 0) is: / (0, 0) UX dsh y = sin x & %"{ YHH

wﬂm%:

1.x-y=0

2.x+2y=0



3.y=2

4. x+y=0

Correct Answer :-

31) In the expansion 1+ %7, the ratio of the coefficients of x> and x* is: / (1+2)7 HIHTH, x3
Td x* & UIDT HT 3JUE &:

1. 3:4

2.2:3

3.2:1

4, 1:1

Correct Answer :-

32) The 5t term of the GP is 2. The product of the first 9 terms is: /‘IUﬁFR' Qﬁ (GﬁTﬂ) DI SaTUE' 2
81 U4 9 UG BT UM &:

1. 512
2.32
3. 18

4. 1024

Correct Answer :-
o 512

33) A family of 4 brothers and 3 sisters is to be arranged for a group photo in a row. In how many
ways they can be seated, if 3 sisters always sit together. / 4 '*ITE‘ﬂ Q'a 3 'él?FI}[ & T IRaR &1 Ud
T TR & e e ufeq o uafRya fear s 81 3% fvaq adiel § domar st asar g, afe 3
I U TP A1 S5 B

1. 720
2. 5040
3. 4320

4. 40320

Correct Answer :-



34)  [° £(x) dx
If f-z fx) dx = 7(5)3 —7(-2)3, then f (x) is equal to: /

aaumﬁu%w%z

afe f_sg Flx) dx

=7(5)3-7(-2)3,

1. 7x3

2.3x°

3. 3x>

4. 21x?

Correct Answer :-

o 21x%



